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1) FEHEREK
EHHREK (FD1)

/] 4 5 6 7 8 9
HH
)
— i gl (CFU/m1) | F A&
DA% 600 180 190 380 500 3, 400
B
N 1 AR
¥
)
i &k O o b A& W (mg/l)| KK
S <0.001  <0.001]  <0.001] <0.001| <0.001| <0.001
B
[ & 2 ot & B (g/l) | KK
D) 0.14 0.16 0. 09 0.27 0.10 0.20
)
mrv A EROEONAEY (mg/L)| KK
e RIS 0.011 0.023 0.011 0. 032 0.018 0.015
] 13.1 16. 4 16.7 14.2 14.6 15.3
" ot ®m 4 A v (mg/L)|HIK 6.4 10. 1 9.0 8.0 8.4 7.4
IF D) 11.4 13.6 13.5 11.6 11.2 12.0
R ) 1.9 2.0 2.5 2.0 2.3 2.3
H B ) (TOC)  (mg/L) | HA&: 1.4 1.1 1.6 1.5 1.3 1.5
S 1.5 1.7 1.8 1.7 1.7 1.8
H ] 7.45 7.48 7.27 7.28 7. 44 7.39
pH i A% 7.23 7.09 7.00 7.00 7.05 7.07
DA% 7.37 7.29 7.19 7.13 7.24 7.27
IS
5= = KR | TKRE | FAKRRER | FAKRE | FAKRE | FAKER
5 21 11 18 17 31 16
&) () | &K 3.7 3.9 4.2 4.3 3.5 3.9
1) 6. 2 6.0 6.5 6.9 6.8 7.3
5 art 33 13 24 21 58 23
% () | RIK 2.2 1.8 1.6 1.3 1.6 1.2
1) 5.7 .3 4.7 5.1 6.7 5.8
B i
wlE M % B O R (ne/D)| WK
H N
w 5
s ® # F (mg/L) | KK
TE % (KMno, 78 % &) (mg/L) 4.6 4.1 4.1 7.3 4.8 5.8
BE 17.8 24. 1 26.3 29.8 30.3 28.8
— Ik B (C) | wIK 12.9 18.5 23.1 25.7 28.0 24.3
fix DA% 15. 6 21.3 24.2 28. 4 29.3 26.0
TH et 36. 3 37.2 36. 8 35. 8 37.5 36.0
H |7 JL ) ) B (mg/L) | i 24. 2 30. 2 27.8 29.3 27.8 26.3
S 33.2 35.6 34. 1 32.6 32.9 33.0




10 11 12 1 2 3 [F]24 & Q159 N3]
140 150 250 400 420 130 12 3, 400 130 560
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
0. 09 0.16 0.15 0.10 0. 10 0.12 12 0.27 0. 09 0.14
0. 006 0.010 0.010 0.011 0. 009 0.010 12 0. 032 0. 006 0.014
14.8 13.0 15.9 14.8 17.8 17.0
2.3 7.6 12.5 11.3 12.7 9.6
9.9 10. 2 14. 1 12.1 15. 1 12.1 245 17.8 2.3 12.2
5.0 1.6 2.1 1.7 2.3 2.1
1.3 1.2 1.4 1.3 1.4 1.3
1.9 1.3 1.6 1.5 1.7 1.6 245 5.0 1.1 1.6
7.39 7.51 7.57 7.57 7.53 7. 46
7.10 7.32 7.33 7.33 7.33 7.24
7.27 7.41 7.48 7.49 7.43 7.37 245 7.57 7. 00 7.33
TARR | FAKR | FKRE | FAKR | FKRE | FAKR 245 KR
67 18 7.3 6.2 9.5 12
3.7 3.4 3.8 2.8 3.1 3.1
14 5.4 4.9 3.6 4.0 5.2 245 67 2.8 6.4
150 34 8.6 10 15 18
1.8 4 1.3 2.0 1.8 2.0
20 5.0 3.4 3.8 3.1 4.9 245 150 1.2 6.0
4.8 4.0 4.2 4.1 4. 4 3.5 12 7.3 3.5 4.6
24. 2 18.0 13.8 10.0 10. 2 14.8
18. 4 13.0 9.3 7.0 7.0 10. 7
21.3 15.8 10.8 8.6 8.1 12.2 245 30. 3 7.0 18.5
34.8 35.3 37.1 35. 4 35.9 34.7
13.4 29.8 32.3 29. 6 31.9 27.6
30. 4 33.4 35.5 33.5 34.2 31.4 245 37.5 13.4 33.3




[ R AEK (£D2)

HR /] 4 5 6 7 8 9
iz & (mg/L) 4.5 3.3 4.9 4.7 3.5 4.3
) 0.08 0. 02 0.02 0.01 0.01 0.01
7 o oE = 7 8 E F (gl xK <0.01 <0.01 0. 01 <0.01 0. 01 <0.01
Tl <0001 <0.01]  <0.01 <0.01|  <0.01]  <0.01
i %3 & = #  (mg/L) 0. 86 0.88 0.81 0.73 0.85 1.02
firt 73 A i > (mg/L) 12.1 12. 4 12.3 10.0 12.3 12.3
By v v A O JE (mg/L) 30 30 29 26 28 26
~ 7 X ¥ U A OE (ng/L) 9 9 9 8 9 8
) 16.3 18.3 17.5 16. 0 16.5 17.0
H £ = L F (mS/m) | FefK 10. 1 14.7 12.4 12.3 9.8 11.1
) 14. 4 16. 1 15.8 14.5 13.9 14.9
- X 10. 4 9.4 8.0 8.4 8.8 7.8
W 17 iz #  (mg/L) | HIK 8.8 6.6 6.0 5.8 5.7 5.8
) 9.7 7.8 7.0 7.0 7.1 7.0
e iz i W B (ng/L) 3 3 3 8 ) 6
| 0.2600  0.216)  0.180|  0.201  0.280|  0.278
bl T S - S S A 3 BMK| 0.133) 0.151)  0.171)  0.160  0.137  0.161
Y 0,177 0.176]  0.176]  0.184|  0.185|  0.208
e fH o e W E (ng/l) 0. 007 0. 004 0. 004 0. 002 0. 003 0. 004
§ 54 1.5 1.8 2.0 1.8 1.9 2.1
WM A B (T0C ) (mg/L) | FAX 1.2 1.0 1.6 1.5 1.2 1.4
) 1.4 1.5 1.7 1.6 1.6 1.7
B o) D (mg/L) 0.8 1.7 0.6 0.3 <0. 1 0.9
C o) D (mg/L) 2.0 1.6 2.4 3.2 2.4 2.7
# ot o O (R OE ) (ng/L) 0.014|  0.013]  0.015| 0.015 0.015] 0.018
PN i (MPN/100m1) 120 3 4 20 48 1, 700
U o ~xom A& v R (mg/L) 0.015 0.011
7 U 7N AR YU T A (fE/10L) 0 0
B < M F (CFU/m1) 1 0
B b ¥ a4 A v (mg/L) 0.03 0. 04 0. 04 0. 03 0. 05 0. 04




10 11 12 1 2 3 [l X K T
3.1 3.2 2.6 2.8 2.6 3.4 12 4.9 2.6 3.6
0. 05 0. 03 0.13 0. 05 0.10 0. 06
<0.01 <0.01 <0.01 <0.01 <0.01 <0.01
<0.01 <0.01 0.01 <0.01 0. 02 0.01 245 0.13 <0.01 <0.01
0. 85 0. 64 1.14 0. 67 1. 08 0. 66 12 1. 14 0. 64 0. 85
11.5 10. 6 13.9 10. 5 13.4 10.0 12 13.9 10.0 11.8
28 28 32 30 30 28 12 32 26 29
8 8 9 9 8 8 12 9 8 8
16.1 15.9 17.8 15.8 18.1 17.8
6.8 11.3 15.7 14.2 15.9 12.5
13.1 14.0 16.9 14.8 17.0 14.3 245 18. 3 6.8 15. 0
9.5 12. 8 12.5 13.8 13.0 11.5
6.6 9.5 10. 4 10.6 11.4 9.6
8.2 10.3 11.5 12.5 12. 4 10.7 245 1.8 5 7 9.3
2 4 4 3 2 3 12 8 2 4
0. 366 0.215 0.176 0.117 0. 145 0.228
0. 164 0.135 0. 147 0.110 0.121 0.118
0. 252 0. 156 0. 157 0.114 0.135 0. 156 46 0. 366 0.110 0. 173
0.006| <0.001 0.010 0. 006 0. 006 0. 007 12 0.010] <0.001 0. 005
2.0 1.5 1.7 1.5 1.7 1.7
1.3 1.2 1.4 1.2 1.3 1.2
1.6 1.3 1.5 1.3 1.5 1.4 245 2.1 1.0 1.5
0.6 0.8 1.2 1.3 0.8 1.0 12 1.7 <0.1 0.8
1.8 1.7 1.9 2.0 2.0 1.8 12 3.2 1.6 2.1
0.014 0.010 0.013 0.010 0.012 0. 009 12 0.018 0. 009 0.013
32 6 5 39 44 22 12 1,700 3 170
0.018 0.026 4 0. 026 0.011 0.018
0 0 4 0 0 0
0 0 4 1 0 0
0.03 0.03 0.03 0.03 0.04 0.03 12 0.05 0.03 0.04




EHAEKR (£D3)

H

ot 4 5 6 7 8 9
BRI T LAEOZEONEY (ng/L) <0.0003|  <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003
K OB K O F o b A& W (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005| <0.00005| <0.00005
*t v v K O F 0 b A& W (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
tE F &K O 0 kb A W g/l <0. 001 <0. 001 <0. 001 0. 001 0. 001 <0. 001
N ofi v v A b & # (ng/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i} fiF i fig = # (mg/L) 0. 006 <0. 004 <0. 004 <0. 004 <0. 004 0. 004
v e A AFr RO LY 7 v (ng/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
i Me e 22 R & OV A R RE & £ (mg/L) 0. 86 0.89 0.81 0.73 0.85 1.02
7 v F K O o b A& W (mg/l) <0. 08 0.10 0.14 0.11 <0. 08 0.12
R v #F K O X o kA W (ng/l) <0. 1 0.1 €0. 1 0.1 0.1 0.1
by # 1t R % (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002| <0.0002|  <0.0002
L4 — Y F * B v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
‘i;;lf__l,‘;_@”;fj;; )59 (mg/L) | <0.004]  <0.004|  <0.004|  <0.004 ~ <0.004|  <0.004

5 o = o % & v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
F K %9 Z mur = F L > (mg/l) <0.001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
kY s v v = F L v (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001

R N € v (mg/L) <0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001

* i % B (mg/L)
4 = = i i (mg/L)
Y = = i Uz 2 (mg/L)

H\|Y 4 = = i i (mg/L)
Y 7 v ® 7 v n A % v (ng/l)
B F# fz (mg/L)

H wmr U oo~ o wm A& (mg/L)
b ) 4 = o FE B (mg/L)
7 m ' Y 7 mw o u A X v (mg/L)
7 | £ N JL 2 (mg/L)
A A A 7 A F b K (mg/L)
m o & O = o { & ¥ (ng/L) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
TN =2 AR OEDOAESYW (ng/L) 0.07 0.07 0. 05 0.21 0. 06 0.18
M Kk O F o b & W (mg/L) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
T hU AR OTZETOEYW (mg/L) 11.4 12.3 12.4 9.7 12.0 11.6
AN UL T3y L% GEE) (ng/L) 39 39 38 34 37 34
7K % 7% 7 ¥ (mg/L) 132 98 93 101 109 119
e 4 F » R om oEm M H (ng/L) <0. 02 <0. 02 0. 02 <0. 02 0. 02 <0. 02
¥ B %+ 2 N v (ng/L) 2 2 6 4 5 5
2- A F A VAR LR F — L (hg/l) 2 2 2 2 4 5
¥ a4 A+ v K om o iE M Hl (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
4 - J — JL ¥8  (mg/L) <0.0005|  <0.0005  <0.0005| <0.0005| <0.0005| <0.0005
T FEUCRETEOONAE YW (ng/L) <0. 002 <0. 002
75 v kW E O LA W (ng/l) <0. 0002 <0. 0002
= v rFr kN E O AE W (mg/L) <0. 002 <0. 002
L2- ¥ 7 v v = % v (mg/L) <0. 0004 <0. 0004
~ I = > (mg/L) <0. 04 <0. 04

wloarmy -z F A ~% ) (ng/l) <0. 008 <0. 008

2 i i F % (mg/L)

E’" Y7 mua 7 % b= VU ) (mg/l)

E;C wmook s v 7 — L (mg/l)

el P H <1 <1

TH [ Hife % % (mg/L)

Bli,,1- ~ ¥V 7 @ o = % > (ng/l) <0. 03 <0. 03
A F-t-7 F ) —F )L (MBE) (mg/L) <0. 002 <0. 002
B = i i (TON)
7 > 7Y V- ¢
(s & B & g (CFU/m1)
L1 — ¥ 7 v mw x F L v (mg/l) <0.01 <0.01




10 11 12 1 2 3 [EIE: 54 531N NS
<0.0003|  <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003|  <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 0. 004 0.014 0. 005 12 0.014 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.85 0. 64 1. 14 0. 67 1.09 0.67 12 1. 14 0. 64 0.85
0.11 0.10 0.11 0.10 0.09 0. 09 12 0.14 <0.08 0.09
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
<0.0002]  <0.0002] <0.0002| <0.0002| <0.0002|  <0.0002 12| <0.0002| <0.0002  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.1 <0. 1 0.1 <0. 1 0.1 <0. 1 12 <0. 1 <0. 1 0.1
0. 06 0.16 0.10 0. 09 0. 07 0.08 12 0.21 0.05 0.10
0.1 <0. 1 0.1 <0. 1 0.1 <0. 1 12 <0. 1 <0. 1 0.1
10. 3 8.9 13.2 11.0 13.3 9.7 12 13.3 8.9 11.3
36 36 41 39 38 36 12 41 34 37
101 87 114 106 111 95 12 132 87 106
<0. 02 <0. 02 <0. 02 0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
3 <1 3 <1 2 3 12 6 <1 3
4 <1 3 <1 <1 5 12 5 <1 2
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005|  <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005|  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <0.0004| <0.0004|  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0.008 <0. 008 4 <0. 008 <0. 008 <0. 008
<1 <1 4 <1 <1 <1
<0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 01 <0. 01 4 <0. 01 <0. 01 <0. 01




FAEK (D 4) B

A 5 7 10 2 [a]%% B FAR ¥

HH

1,3—Y7ueua7a~X2 (D—D) (ng/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22—DPA (X F K ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 D £ = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T + 7 s — ~ (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 b = v v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 AN Z (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
T 3 K = 2 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 a V4 =4 — JU (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 YV X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A4V Z7uaBH 7 (MIPC) (mg/L)| <0.0001] <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
A TuaF A Z (1IPT) (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A4 7 XA A(IBP) (mg/L)| <0.0009] <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 I 7 7 A ¥ (mg/L)| <0.00006| <0.00006 <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
== Z2 7 wu H 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T 2V RA (YT =R A, EDDP)  (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
= N7 = v 7 vy 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
TRV — )L (mra A — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURZRNLT 7 (R YY) (mg/L) <0.0001|  <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
F x ¥ Y 7 g A K 2 (ng/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X > v 8 (A B 81 ) (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy ¥ X Kk v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
Vi =z VA 7R Z (mg/L) | <0.000006| <0.000006| <0. 000006| <0. 000006 4| <0.000006| <0. 000006| <0. 000006
S 7 = v A b m — Jb (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
) % 4 > 7 (mg/L)

JL XY g ( C ) (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
s o 7 wm X I K (mg/L) <0.0004|  <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 JL R 7 v > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 732 (A CN) (mg/L)| <€0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
ES Y -7 4 v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
V4 3 JL =4 > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
7 U R H — K~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v kK v Fx — b (mg/l)

7 owm A 7 v v 7 (mg/L) <0.0002|  <0.0002|  <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
sa=ra7=z (CNP) (mg/L) <0.0001|  <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 wm Jb B U & A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souZa=,Lb (TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
D4 7 > v > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
> 7 J K A (CY AP ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v vury (DCMU) (mL <0.0002|  <0.0002|  <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 umr X =)Lo(DBN) (mglL) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
o ua )R A (DDVP) (mg/L)| <0.00008| <0.00008 <0.00008| <0.00008 4] <0.00008| <0.00008| <0.00008
DX 7 % K (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
‘./X/l/‘]‘]\/(:t?‘/l/ﬁ“j‘)(}\ ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4] <0.00004| <0.00004| <0.00004
D% ¥ 7 J v (mg/L)

CFF I NN A— R I (ng/L)

DX ¥ 7 =4 L (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
oonnm R v 77 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
= Yy (C A T ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A Z R U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
DA k = - ; (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A k D) v (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
Y A X L —  (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
vl A 7 v J > (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
bl A N o v (mg/L) <0.008 <0.008 <0.008 <0.008 4 <0.008 <0. 008 <0. 008
577)(/ }\\ AL (17‘_/§J/\) (mg/L)

RORAFNA I FHTT =k




BEHRAEK (£D4) BRHHE

/ 5 7 10 2 Eip i Rl )

HH

5 7 v = JL (mg/L) <0.001 <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ % 7 2 (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
F X ¥ J v 7 (mg/L)| <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F A7 7 Fx— b A F L (ng/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F F X v HF v 7 (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <€0.0002| <0.0002| <0.0002
> 7 U v b U F v (ng/L)

FNTHNLT (MBPMC) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
k ) 4 o B L (mg/L) [ <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
FKYUZ ek (DEP) (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
Y v 7 Z Y — ) (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
K Uo7 v U v (mg/L) | <0.0006] <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
+ 7 i A 2 K (mg/L) | <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A a —  (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~ =4 R Z (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
=g 7 7 =4 = J (mg/L)

7 Y X ¥ 7 = v (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV R—k (5 L—R) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002| <0.0002
= = v F A v (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
=) F B b 7 (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =4 X o > (mg/L) | <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 v =4 = L (mg/L) | <0.000005| <0.000005| <0. 000005 <0. 000005 4/ <0. 000005 | <0. 000005 | <0. 000005
Jrx=raFFL (MEP) (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 x/) 7 HNV7 (BPMC) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
- E= U N > > (mg/L)

72y F A (MPP) (mg/L)| <€0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z — K (PAP) (mg/L)| <0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v b 7 ¥ I K (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 H = A K (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
7 A 4 =i — L (mg/L) | <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 pd N R Z (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 = ¥ v (ng/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 v 7 ¥ F A (mg/L)| <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F 7 7 v — )b (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] v 3 K v (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4] <0.0009| <0.0009| <0.0009
7 m  F A K A (mg/L)

7 v v a2 JF ) — Jb (mg/L)| <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
va =4 = A 2 K (mg/L) | <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 u X v — L (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 £ 7 F K (mg/L) <0.001 <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 3 JU (mg/L) | <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~ v D 7 =4 v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0.001
N Y Y 7 owm o v (mg/L) | <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
N Y 7 o= v F (mg/L) | <€0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A > > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N v F g4 A F U v (ng/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N v 7 Z  J b 7 (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Ry 7)7V s (R2AY ) (ng/L) | <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L k' — bk (mg/L)| <0.0007| <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A F 7 ¥ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F 4 (~ TV ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
AaFuay 7 (MCPP) (mg/L)| <0.0005 <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A Y 3 JL (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A b 7 X > )b (mg/L)| <0.0006| <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
AFHEF A (DMTP) (ng/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L KX A4 A um ¥ (mg/L)| <0.0003] <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A FI 7 A b ar B ¥V (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) -7 D4 v (mg/L) | <0.0003| <0.0003| <0.0003| <0.0003 4| <€0.0003| <0.0003| <0.0003
A 7 = F ¥ v b (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
A A =i = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
s D) % — ~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
)= 4K FH (mg/L) <1 <1 <1 <1 4 <1 <1 <1




2) SRERAENK
SREFRAEK (£2D1)

4 5 6 7 8 9
HH
i
— % #m (CFU/ml) | FefE&
Ty 890 150 230 590 1, 400 1, 400
e
K ¥ 53 i
&S]
54
kX 2 0o b A B (mg/l) | KK
| <0.001]  <0.001| <0.001| <0.001| <0.001| <0.001
i
% kK O = o b A& B (mg/l)| &K
% N2 0.18 0.15 0. 14 0.10 0.10 0.11
54
<~ VB ROFDOAEY mg/l)| &K
#e RIA) 0.018 0. 020 0. 024 0.012 0. 021 0. 004
4] 13.5 16.6 16.3 13.9 14.0 15.7
®woik ¥ a4 A v (mg/L) | I 6.9 10.1 6.2 8.5 6.1 7.0
I8 RIAS) 11.5 13.6 13.2 11.2 10.8 11.9
54 2.5 2.2 2.4 2.0 2.3 2.4
&) & W (ToC)  (mg/L) | Ak 1.3 1.1 1.6 1.4 1.2 1.4
A -y 1.6 1.6 1.9 1.7 1.6 1.7
4] 7.45 7.45 7.31 7.23 7.29 7.33
pH il 515y 7.13 7.11 6. 90 6.92 6.98 7.04
Ty 7.35 7.30 7.16 7.12 7.21 7.22
US
5 = TARR | FAKRR | TAKR | TAKRE | FAKRE | KR
4] 20 15 13 11 17 18
&) () | KIK 3.9 4.2 4.6 3.4 3.3 3.3
R0 6.4 6.3 7.0 5.5 5.4 5.4
S q] 25 19 18 10 11 4.0
% B | KIK 3.0 0. 65 2.0 0.44 1.0 0.58
Ty 6.0 4.8 5.2 2.7 3.0 1.5
H 5 q]
Wl m & B M % (/)| RIS
H T
. i
W |7 %’ # F (mg/L) | &K
S TEEW S (K0, 1 & &)  (ng/L) 5.0 3.5 4.4 4.8 5.1 4.9
e 17.6 24. 2 26.3 29. 8 30.0 28.5
_ |k B(C) | &K 12.3 18.5 22.8 24. 8 26. 8 24.2
i Ty 15.4 21.4 24.2 27.8 29.0 25. 8
H i 35.6 36. 8 36.0 34.8 35. 4 35. 2
Bl JL Vi) ) B (mg/L) | FAK 23.8 30. 4 22.6 29.2 22.2 23.4
S| 33.0 34.8 33.3 31.7 32. 1 32.2




10 11 12 1 2 3 EIEx'e b a K NS
460 260 90 440 390 110 12 1, 400 90 530
0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12 0.001| <0.001| <0.001
0.49 0.14 0.13 0.11 0.13 0.11 12 0. 49 0. 10 0.16
0. 130 0. 009 0.010 0.010 0.014 0.013 12 0. 130 0. 004 0.024
14.8 12.6 15.8 14.5 18.3 17.1
2.8 7.7 13.1 10. 6 12.7 8.4
9.7 10.3 14. 1 12.1 14.9 11.9 254 18.3 2.8 12.1
4.2 1.5 2.1 1.6 2.2 2.1
1.3 1.2 1.4 1.3 1.5 1.4
1.8 1.3 1.6 1.5 1.8 1.7 254 4.2 1.1 1.6
7.35 7.51 7.60 7.61 7.61 7.49
7.01 7.28 7.38 7.32 7.43 7.32
7.25 7.42 7.50 7.51 7.50 7.40 254 7.61 6. 90 7.33
TARR | FARR | TAKR | FAKRE | FAKRE | FKE 254 Tk
65 8.1 6.9 6.5 12 14
3.5 3.5 3.8 2.9 3.4 2.8
13 4.9 4.7 3.8 4.6 5.8 254 65 2.8 6.1
74 13 5.9 9.0 22 17
0.52 1.9 1.2 2.9 3.1 1.5
11 3.9 3.3 4.7 5.0 6.2 254 74 0.44 4.8
6.8 3.7 4.2 4.1 5.0 3.5 12 6.8 3.5 4.6
24. 1 17.7 13.5 10. 2 10.0 14.5
17.7 12.7 9.0 7 .1 10.5
21. 1 15. 6 10. 4 .2 7.6 11.9 254 30.0 6.1 18.2
33.9 34.6 37.2 36. 0 35.6 35.4
14.0 30. 6 31.2 31.4 32.6 25.5
29.5 32.9 35.1 33.4 34.1 31.3 254 37.2 14.0 32.8




REFREK (£D2)

HR / 4 5 6 7 8 9
[i73 T (mg/L) 4.0 3.3 4.9 5.1 3.6 4.0
o4 0.10 0. 02 0. 04 0.01 0.01 0.01
7T v oE = 7 g %E F (g/l) | &K <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
¥ 0.01 <0.01 <0. 01 <0.01 <0.01 <0.01
i 74 & = F (mg/L) 0. 86 0. 84 0. 82 0.79 0. 82 1.08
it i3 A i > (mg/L) 12.4 12.0 12.8 10.6 12.0 11.8
v v w A il FE (mg/L) 30 30 28 26 28 26
~ 7 %X ¥ v A fE FE (ng/L) 9 9 9 8 9 7
4] 16.0 16.9 17.3 16. 1 16. 4 17.2
A S I " R (S/m) | el 9.8 13.9 10.4 11.8 9.8 9.5
) 14.3 15.7 15.6 14. 2 13.8 14.7
B & 10.6 9.2 7.9 8.9 8.6 7.3
W ¥ %4 F  (mg/L) | FAX 8.3 6.7 5.8 5.2 5.8 6.3
NIS5] 9.7 8.1 7.0 6.8 7.1 6.8
2 |1z iz " B (ng/L) 6 3 2 3 1
| 0.3400  0.218|  0.203]  0.205|  0.465|  0.289
S S A 3 k| 0.139)  0.146)  0.172]  0.160  0.132|  0.159
Sl 0,198 0.177|  0.183]  0.189]  0.229)  0.207
L H oo~ a ¥ v W E (ng/l) 0.007|  0.003|  0.003|  0.003]  0.003|  0.004
g IR 1.8 1.9 2.0 1.9 2.2 2.3
WA (10C ) (mg/L) | &IK 1.2 1.0 1.6 1.4 1.2 1.4
NIS] 1.4 1.5 1.7 1.6 1.6 1.7
B ¢) D (mg/L) 0.8 1.4 0.3 0.2 0.1 1.0
C @) D (mg/L) 2.1 1.6 2.4 2.3 2.0 2.0
# oot oM OE (R OE ) (mg/L) 0.013|  0.013|  0.014| 0.017| 0.015|  0.019
K 15 (WPN/100m1) 390 <1 3 8 5 220
MU o~m A X v g AR (ng/L) 0. 008 0.010
7 U 7 AK Y YU A (fE/10L) 0 0
g < M F M (f#1/mL) 0 0
2 4 ¥ 4 A v (mg/L) 0.03 0. 04 0.04 0. 04 0.05 0. 04




10 11 12 1 2 3 [EIE=' B b5 d 13y 8]
3.1 2.6 2.6 3.3 2.6 3.6 12 5.1 2.6 3.6
0. 05 0.11 0.12 0. 07 0.17 0. 07
<0.01|  <0.01|  <0.01| <0.01  <0.01|  <0.01
<0.01|  <0.01]  <0.01 0.01 0.03 0.01 254 0.17|  <0.01|  <0.01
0. 87 0.63 1. 09 0.75 1. 00 0. 65 12 1. 09 0.63 0. 85
11.5 10.8 13.8 10. 4 13.1 9.9 12 13.8 9.9 11.8
28 28 31 30 30 28 12 31 26 29
8 7 9 9 8 8 12 9 7 8
15.9 15.6 17.8 15.5 18.4 18.0
6.6 11.6 15.3 13.6 15.7 11.7
12.9 13.8 16.8 14.7 16.9 14.2 254 18.4 6.6 14.8
9.7 12.8 12.5 14. 4 13.6 11.7
6.3 9.4 10.5 11.7 11.9 10. 4
8.2 10.3 11.6 12.8 12.9 11.0 254 14. 4 5.2 9.4
22 3 3 4 3 2 12 22 1 5
0.435|  0.207|  0.198  0.125|  0.149|  0.271
0.174|  0.139|  0.146/  0.108]  0.126]  0.121
0.269]  0.159| 0.161 0.118  0.136| 0.185 48| 0.465|  0.108]  0.184
0.005| <0.001|  0.009]  0.005/  0.009|  0.005 12| 0.009| <0.001|  0.005
2.1 1.4 1.7 1.5 2.0 1.8
1.3 1.2 1.4 1.2 1.4 1.2
1.6 1.3 1.5 1.3 1.5 1.4 254 2.3 1.0 1.5
0.6 0.5 0.4 1.4 1.0 1.1 12 1.4 <0.1 0.7
2.9 1.9 1.9 2.0 2.2 1.8 12 2.9 1.6 2.1
0.014|  0.010/  0.013]  0.010|  0.012|  0.009 12| 0.019]  0.009| 0.013
23 12 4 59 41 14 12 390 <1 65
0. 022 0. 022 4 0.022)  0.008] 0.016
0 0 4 0 0 0
0 0 4 0 0 0
0.03 0.03 0.03 0.03 0. 04 0.03 12 0. 05 0. 03 0. 04




SRERANK (£D3)

A

ot 4 5 6 7 8 9
BRI AN OTEDOLREY (ng/L) <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003|  <0.0003
K | Kk O % © b A& W (mg/L)| <0.00005 <0.00005 <0.00005| <0.00005| <0.00005 <0.00005
v v kO E O E B (ng/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
vt #F kK O £ 0 b A& B (ng/l) <0. 001 <0. 001 <0.001 0. 001 0. 001 <0. 001
N7 o omo oA b A& ¥ (ng/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
il il I HE %= # (mg/L) 0. 006 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
ST e A v kAL > 7 v (mg/L) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
i B fE = B K OV AY BB BB ¥ R (mg/L) 0. 86 0.84 0.82 0.79 0.82 1.08
7 v F K O ZE O A& P (mg/l) 0.08 0.09 0.11 0.10 <0. 08 0.11
v R kKO E ok E B (mg/l) €0.1 <0. 1 <0. 1 <0. 1 €0. 1 <0. 1
| i s I74 F# (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — v F = H v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
}féf/lfl,“ﬁ}}uﬁf;;i@ (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
Yy 7 m owm X Z v (mg/l) <0. 002 <0. 002 <0. 002 <0. 002 <0.002 <0. 002

% 7 N % 7/ v ou = F L v (ng/l) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
YU 7 v v = F L v (ng/l) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001

e ~ g N > (mg/L) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0.001
b ES [z (mg/L)
V4 =4 = HE % (mg/L)

- 7 o o N % 2 (mg/L)

Y 4 =4 = HE % (mg/L)
Y 7 r ® 7 vB B A X v (ng/L)
R # % (mg/L)

Hle F U~ 5 X % > (gl
k ) U =4 v FE fE (mg/L)
7 nm ' Y 7 v v X X v (ng/lL)
7 o * R JL 2 (mg/L)
A v A 7 v 7 b K (mg/L)
Mmoo kO o b A W (ng/l) 0.1 <0.1 0.1 <0.1 0.1 <0.1
TN =T LKk ZEDOLAEYD (mg/l) 0. 10 0. 06 0.08 0. 06 0. 06 0.11
o OE O = o 1k A& W (mg/L) €0.1 <0.1 €0.1 <0.1 €0.1 <0.1
F FU v A KR RYEOIRE W (ng/L) 11.8 11.9 12.2 9.4 11.8 10. 7
AN T LT xRy L% GEE) (ng/L) 39 39 37 34 37 33
b3 I % © ¥ (mg/L) 99 99 95 91 102 93
= A4 A4 v ® o om s M A (mg/L) <0. 02 <0.02 <0. 02 <0.02 <0. 02 <0. 02
¥ - * 2 2 v (ng/L) 3 3 5 4 4 4
2= A F v A VKR F F — b (ng/L) 2 2 2 3 3 4
¥ A4 A& v K om o E M A (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
4 - J — L ¥6  (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005| <0.0005|  <0.0005
Ty FE VYR OZEOEY (ng/L) <0. 002 <0. 002
v g v k™ FE oA W (ng/l) <0. 0002 <0. 0002
= v rZ Vv EXZE 0 E W gL <0. 002 <0. 002
L2- ¥ 7 m m =x= % v (mg/l) <0. 0004 <0. 0004
k v T > (mg/L) <0. 04 <0. 04

w |7 A NVBRY = F A~ F L) (mg/l) <0. 008 <0.008

P | Hf i = iz (mg/L)

EVﬁDDT’E}\;]\U/V (mg/L)

fi; ook v wm  Z  — 2 (mg/L)

el 3 B <1 <1

i Fife 1% i (mg/L) 2.9 4.5
LL,1- b U 7 v uw = % v (mg/l) <0.03 <0.03
A F-t-7 F L= —F b (MBE) (mg/L) <0. 002 <0. 002
B £ R 3 (TON) 14 10
z v g ) T K =i, 5 -1.8
e J& ES e gt (CFU/m1)
L1 — Y 7 v v = F L v (mg/l) <0.01 <0.01




10 11 12 1 2 3 [EIEe B IR )
<0.0003|  <0.0003|  <0.0003| <0.0003|  <0.0003|  <0.0003 12| <0.0003|  <0.0003|  <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 0. 008 0.013 0. 006 12 0.013 <0. 004 <0. 004
<0.001 <0. 001 <0. 001 <0.001 <0. 001 <0. 001 12 <0. 001 <0.001 <0. 001
0. 87 0.63 1. 09 0.76 1.01 0. 65 12 1.09 0.63 0. 85
0. 09 0. 10 0.10 0. 10 0. 09 0. 09 12 0.11 <0. 08 0. 09
0.1 <0.1 0.1 <0.1 0.1 <0.1 12 <0.1 0.1 <0.1
<0.0002|  <0.0002|  <0.0002| <0.0002|  <0.0002|  <0.0002 12| <€0.0002|  <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0.001 <0. 001 <0. 001 <0.001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0. 34 0.15 0. 09 0.10 0.10 0. 08 12 0. 34 0. 06 0.11
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
10. 4 8.9 13.1 11. 4 13.1 9.7 12 13.1 8.9 11.2
36 35 40 39 38 36 12 40 33 37
128 88 100 94 101 91 12 128 88 98
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
2 <1 2 <1 3 3 12 5 <1 3
2 <1 2 <1 <1 <1 12 4 <1 2
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005|  <0.0005| <0.0005| <0.0005| <0.0005|  <0.0005 12| <0.0005| <0.0005|  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4| <0.0002| <0.0002|  <0.0002
0. 004 0. 002 4 0. 004 <0. 002 0. 002
<0. 0004 <0. 0004 4| <0.0004| <0.0004|  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<1 <1 4 <1 <1 <1
2.7 2.3 4 4.5 2.3 3.1
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
17 26 4 26 10 17
-1.7 -1.6 4 -1.5 -1.8 -1.6
<0. 01 <0.01 4 <0. 01 <0.01 <0. 01




RERAEK (D 4) FRHEAE

A 5 7 10 2 [EI B AR )

HH
1,3—yZ7un” D/\/(D D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22—DPA (X F &K ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 e e = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T - 7 - — k (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 k = v v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 AN Z (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
7 N k 7 A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 a Vi =4 — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y ¥ Y F A  (mg/L)| <€0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = v A& A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
A 7B )7 (MIPC) (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7uaF 4+ (1PT) (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0.003 <0.003 <0.003
A4 7 XR2AA(IBP) (mg/L)| <0.0009] <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 I 7 7 A ¥ (mg/L)| <0.00006| <0.00006 <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v K ) 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
== Z2 7 wu H 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T RA (YT =2 A EDDP)  (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
= N7 = v 7 ua vy 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TV — )L (mra A — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURZANLT 7 (R YY) (mg/L) <0.0001|  <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
F x ¥ Y 7 g A K 2 (ng/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X > v 8 (A B 81 ) (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy ¥ X Kk v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 =z 4 N Z (mg/L) | <0.000006| <0.000006| <0. 000006| <0. 000006 4| <0.000006| <0. 000006| <0. 000006
S 7 = v A b m — JL (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 /l/ 4 y 7 (mg/L)
Jv N1 5 (N C ) (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
71 /1/ -7 a2 i K (mg/L) <0.0004|  <0.0004| <0.0004| <0.0004 4 <0.0004| <0.0004| <0.0004
i) % R 7 7 > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 73 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - 4 v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
V4 3 JL =4 > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 U R H — K~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v &k v R — b (mg/l)
7 o wm A 7 v v 7 (mg/L) <0.0002|  <0.0002|  <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
s =ra7=z (CNP) (mg/lL) <0.0001|  <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7w Jb B U & A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souZua=,Lb (TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
D4 7 Zh DA > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
> 7 J K A (CY AP ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v vnry (DCMU) (mL <0.0002|  <0.0002|  <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
o7~ =)L (DBN) (mglL) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003

LR A (DDVP) (mg/L)| <0.00008 <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 U > K~ (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
J2ZNVIRI S (mF IV F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4] <0.00004| <0.00004| <0.00004
D% ¥ 7 J v (mg/L)
CFFH NN A— R I (ng/L)
D4 ¥ 7 =4 JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
oonnm R v 77 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
= ¥y (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A HZ A U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
A k =  — ; (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005|  <0.0005
D4 A k D) v (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
Y X v X L — b (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
vl A 7 D4 v (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
d A VN =g > (mg/L) <0.008 <0.008 <0.008 <0.008 4 <0.008 <0. 008 <0. 008
f]{ v by A XA (77“_‘/‘L\) (mg/L)

FAALYFHYT R — b




i

BREK (ZD4) BHEHE

/ 5 7 10 2 Eip i Rl )

HH

5 7 P = JL (mg/L) <0.001 <0.001 <0.001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ % v 2 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002|  <0.0002| <0.0002
F A+ ¥ o o 7 (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F AT 7 Fx— b A F L (ng/l) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0. 003 <0. 003
F F X v H 7 (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
7> 7 U o kb U F v (ng/L)

TINT T (MBPMC) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
k ) 4 o B L (mg/L) [ <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
)27k (DEP) (ng/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y v 7 Z Y — L (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
Uo7 oo Z U v (ng/L) <0.0006|  <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
+ 7 i A 2 K (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A a — I (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~ =4 N Z (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
=g 7 7 =4 = L (mg/L)

v 7 YV X% ¥ 7 = v (mg/L)| <€0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IR —k (5L —FR) (mg/L)| <0.0002] <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
=4 = v F A v (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005 <0.00005
v U 7 F v 7 (mg/l) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 X o > (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 4 v =4 = L (mg/L) | <0.000005| <0.000005| <0.000005| <0. 000005 4| <0.000005| <0. 000005| <0. 000005
ZJx=baF AL (MEP) (ng/lL) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
72/ 7 V7 (BPMC) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
-7 E= U N / > (mg/L)

7 F F 2 (MPP) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7 x> —F(PAP) (mg/L)| <€0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v kb 7 W i K (mg/L) <0.0001|  <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
- VA 7 A R (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 A 4 =i — b (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
7 pd N R 2 (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 = ¥ v (ng/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 N 7 Y F A (mg/l) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F 7 7 v — b (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A =4 D 2 K > (mg/L) <0.0009|  <0.0009|  <0.0009| <0.0009 4| <0.0009| <0.0009|  <0.0009
7 m  F A K A (mg/L)

7 v v 2 v — L (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A =i = VA 2 K (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 v X F Y — ) (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] T -7 7 K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 3 U (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~ oy b =4 > (mg/L) <0. 001 <0.001 <0.001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Vv v 7 om v (mg/L) <0.0009|  <0.0009|  <0.0009| <0.0009 4| <0.0009| <0.0009|  <0.0009
Ny Y 7 = F w F (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A > > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~ v T 4 A Z Y v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
N v 7 Z v T (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
N7 (Rz2aP ) (mg/L) | <0.0001|  <0.0001| <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L ' — k (mg/L) <0.0007|  <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A F 7 ¥ — K (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F 4 (~ TV ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7wy 7 (MCPP) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <€0.0005| <0.0005| <0.0005
A Y N L (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A b 7 X v )L (mg/L) <0.0006|  <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
AFHEF A (DMTP) (ng/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L KX 4 A v v (ng/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
A FI 7 A b aE B ¥V (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4 <0.0004| <0.0004| <0.0004
A I ) - D4 >~ (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
A 7 = F v b (ng/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
A A =i = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
= D) % — ~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
)i 3K 2 (mg/L) <1 <1 <1 <1 4 <1 <1 <1




3)

5] FH A TL 7K

ol R I OK (£ 1)

4 5 6 7 8 9
HH
i
— s M (CFU/ml) | B 1K
¥ 52 100 420 1, 400 110 80
Wi
N iz IR
wiE
& O o b A& ¥ (mg/l)| &K
4]
®(# kO 2 o k& ¥ e/l &K
) <0.03 <0.03
wiE
AR ZE oL E Y (ng/L)| KK
% 1 0. 033 0. 005
4]
Btk o4 A v (mg/l) | KK
1A ¥
i 1.2 1.3 1.3 1.4 1.5 1.4
75l 52 Y (ToC)  (mg/L) | i 0.9 0.8 1.2 1.1 0.9 1.0
¥ 1.0 1.1 1.2 1.2 1.2 1.2
H 54 7.16 7.36 7.05 7.00 7.26 7.07
pH {2 Qi 6.91 6. 86 6.78 6. 76 6. 87 6. 89
S 7.04 7.02 6.93 6. 86 7.02 6. 96
S
5 = TR | FAKRE | FAKR | FAKRE | FAKRE | FAKE
i 1.8 2.2 2.0 1.7 2.7 2.5
=) EO(E) | i 0.9 0.8 1.2 0.9 0.8 0.9
NS 1.3 1.5 1.5 1.3 1.3 1.4
B 0. 86 0.39 0. 50 0.32 0. 82 0. 56
# () | KK 0.20 0.17 0.12 0.13 0. 14 0.11
I 0.32 0.25 0. 20 0.21 0. 36 0.23
L i
Ml o B M % e/l | BE
5] NS
a i
w |7 ® % F#  (mg/L) | FAX
it )
A% (KMo, 8 & &) (mg/L) 3.1 2.3 2.9 2.7 3.2 2.8
a5 18.0 24.6 25. 6 30. 1 30. 6 29.3
— Ik HO(C) | &IE 13.4 18.8 23.6 26. 8 28.7 24.3
b D] 15.9 21.9 24. 6 28.9 29. 7 26. 4
H i 30. 6 32.0 30. 8 29.0 31.8 31.0
B 7 Jb o) ) E (mg/L) | &A% 22.3 27.0 25.4 23.5 23.8 22.6
S 28.0 29.7 28. 6 26. 7 27.6 27.8




10 11 12 1 2 3 Bk o dE 85413 T
31 28 18 27 48 10 12| 1,400 10 190
<0. 03 <0. 03 4] <0.03]  <0.03]  <0.03
0.013 0. 008 4/ 0.033] 0.005| 0.015
1.3 1.1 1.3 1.1 1.4 1.3
0.8 0.8 1.0 0.9 1.1 0.9
1.1 0.9 1.1 1.0 1.2 1.0 245 1.5 0.8 1.1
7.15 7.15 7.28 7.26 7.22 7.17
6. 83 6. 87 7.02 7.00 7.06 6. 88
6. 98 7.04 7.14 7.15 7.11 7.01 245 7.36 6. 76 7.02
TAKR | FKRE | FAKRR | FKRE | OTFAKRE | FKR 245 TARR
2.2 1.5 1.9 1.3 1.8 1.9
1.0 0.9 1.1 0.7 0.9 0.8
1.5 1.2 1.5 1.0 1.4 1.2 245 2.7 0.7 1.3
0. 65 0. 48 0.53 0. 54 0. 67 0.93
0.12 0.19 0.18 0.18 0.24 0. 22
0. 28 0. 29 0.32 0. 37 0. 42 0.43 245 0.93 0.11 0.31
2.4 2.2 2.4 2.3 2.6 2.6 12 3.2 2.2 2.6
24. 4 18.5 13.7 9.5 10. 4 15.1
18.5 13. 1 9.5 7.3 7.2 11.0
21.6 16. 2 10.9 8.7 8.3 12.5 245 30. 6 7.2 18.8
29. 0 30. 0 31.3 30. 0 30. 6 28.6
21.8 23.0 28.9 26. 0 27.2 20.9
25. 6 27.7 30. 0 27.8 28.5 25.7 245 32.0 20. 9 27.8




el R IR (2D 2)

ER / 4 5 6 7 8 9
73 B (mg/L)
e
7 v o' = 7 B E #F (/L) &K
et
i %4 HE g #  (mg/L)
Bt [i73 A % > (mg/L)
v v AN o E (mg/L)
~ 7 X ¥ v A @ JE (mg/l)
i 16.5 17.1 17.8 16.7 17. 4 17.6
EES S I i o (@S/m) | K 12.1 14.8 14.2 12.8 12. 4 12.1
RIS 14.9 16. 2 16.3 15. 1 14.7 15.6
‘,%*
s 17 iz F  (mg/L) | FdX
ik S
2 iz W B (mg/L)
15 54 0. 089 0.118 0. 102 0. 092 0.110 0.114
% 4 B e e E A& 0.076]  0.084]  0.092|  0.077| 0.061|  0.080
Sl 0.081)  0.098)  0.098]  0.085  0.086|  0.094
: =B H A v 7 W E (mg/l) 0. 003 0. 024
B
WR M OB (ToC ) (mg/L) | MK
oty
B o) D (mg/L)
C o) D (mg/L)
Hoot omOE (R OE ) (mg/L) 0.011 0.011 0.012|  0.012] 0.013| 0.014
PN 1% PA - (PN/100m1) 2 <1 <1 <1 <1 <1
MU v A Z K (ng/l)
7 U 7 F 2K Y YU A (fE/200)
B o W 4 A () 0.03 0. 04 0. 04 0.02 0. 04 0. 04




10 11 12 1 2 3 [EIEs i Q28 &)
16.3 16. 1 18. 1 16.3 18.6 18.0
11.8 11.8 16.3 13.2 16. 1 12.9
14.2 14.3 17.3 15.0 17.3 4.7 245 18.6 11.8 15.5
0.105 0.076 0. 099 0. 070 0. 083 0. 085
0. 080 0. 060 0.077 0. 059 0.077 0. 065
0. 091 0. 069 0. 087 0. 065 0. 080 0.074 46 0.118 0. 059 0. 152
0.011 0. 005 4 0. 024 0. 003 0.011
0.011 0. 008 0.011 0. 008 0.011 0. 008 12 0.014 0. 008 0.011
6 1 <1 3 8 2 12 8 <1 2
0.03 0.03 0.03 0. 04 0.04 0.03 12. 00 0. 04 0. 02 0.03




4) SRESRILEK
SREREBOK (£D1)

1 H

BAN

e
Fi

(CFU/m1)

R
LA
T

150

64

12, 000

160

PN 1%

B

R
I
T

Nk OV F o b A& W

(mg/L)

e
A
122

wlr B 2 0 b & W

(mg/L)

e
s
T

<0. 03

<0. 03

~ AR EDONEY

(mg/L)

e
A
122

0.011

0. 009

&

ft v a4

Ve

(mg/L)

W
el
T

A 1 7

(TOC)

(mg/L)

R
SIS
T

1.2
0.9
1.0

—_— O =
— =3

— = =
wWw DN O

— = =
DN = W

1.
0
1.

3
8
1

— O =
— O W

pH

=

S
5 & 158
)

7.32
7.03
7.20

7.00
7.23

7.09
7.19

7.28
6.99
7.16

7.39

7.1

8

7.26

7.21
7.26

A0

AR

TARR

TAR

TARR

KR

TARR

P

1.5
0.9
1.2

2.2
1.0
1.4

1.7
0.8
1.2

1.5
0.6
1.0

1.4

0
0

5
8

1.5
<0.5
0.7

e

0. 45
0.14
0.22

0.28
0.10
0.18

0.22
0.10
0.15

0.27
0. 10
0.16

0.61
0.09
0.24

0.30
0. 05
0.12

R 1 e £
M = &m

\;

(mg/L)

1 | IO

7% W H

&

FHRES

(mg/L)

o)

AW 5 (KMo, 14 #

m

&)

(mg/L)

7K

i’

(0)

17.
12.
15.

23.
18.
21.

25.
22.
24.

29.
25.
27.

29.
27.
29.

28.
24.
25.

=

(mg/L)

29.
19.
27.

= W 3»M|o1 N Oo1|0o

31.
24.
29.

= DN OO|W W O|lw

30.
25.
28.

Ol > DD 0 3|

29.
23.
27.

= o 0O o1 o1

31.
23.
27.

L O VIO © 9S>

31.
24.
29.

O O N0 © WD




10 11 12 1 2 3 Bk i 2 4l2S SE-H
80 15 5 22 20 90 12| 12,000 0 1100
<0.03 <0.03 4] <0.03]  <0.03]  <0.03
0.003 0.012 4/ 0.012]  0.003]  0.009
1.2 1.1 1.2 11 1.4 1.2
0.8 0.7 0.9 0.9 0.9 0.7
1.1 0.9 1.0 1.0 1.1 0.9 254 1.5 0.7 1.1
7.39 7.36 7.36 7.43 7.33 7.34
7.11 7.16 7.26 7.20 7.19 7.11
7.24 7.28 7.32 7.29 7.27 7.22 254 7.43 6. 99 7.24
TARSR | TR | FARR | FAR | TR | AR 254 KR
2.0 1.0 1.5 1.0 1.3 1.4
<0.5 0.5 0.7 <0.5 0.6 <0.5
1.2 0.7 1.1 0.7 1.0 0.8 254 2.2 <0.5 1.0
0.42 0.12 0.25 0.38 0.38 0.48
0.06 0.07 0.08 0.16 0.18 0.14
0.16 0.10 0.15 0.21 0.25 0. 26 254 0.61 0.05 0.18
2.4 1.6 2.1 2.3 2.9 1.7 12 2.9 1.6 2.4
23.9 17.6 13.2 9.5 9.9 14.3
17.8 12.4 9.1 6.5 6.0 10. 4
21.1 15.5 10. 4 8.0 7.5 11.9 254 29.7 6.0 18. 2
29.6 28.9 31.2 30.7 30.2 29.6
19.8 22.2 24.2 25.8 26.8 22.5
25.5 27.3 29.4 27.8 28.5 26.0 254 31.8 19.3 27.8




SRERIEBOK (2D 2)

o / 4 5 6 7 8 9
73 E  (mg/L)
i
7 oy o' = 7 i ZE #F (ng/l)| KK
R
i iz HE £ #  (mg/L)
fift i A > (mg/L)
Hoov vy A i JE (mg/L)
~ 7 %X v v A @ JE (ng/L)
IR 16.1 16. 8 17.7 16. 8 17.6 17.7
H i = g £ (mS/m) | FAK 11.2 14.0 14.3 12.4 12.8 13.4
St 14.6 15.9 16. 2 14.9 14.9 16.0
— R
s gea %3 #  (mg/L) | el
i i
3 E 7 'H (mg/L)
R 0.100|  0.119|  0.100]  0.083|  0.093|  0.096
. % 4 B % b E & 0.080)  0.088)  0.082|  0.064]  0.044|  0.062
Sl 0.086) 0.102]  0.092]  0.076]  0.066| 0.074
Hle 56 ~a #» > % B g/l 0.003 0.036
R
WA B (ToC ) (mg/L) | FdX
i
B o) D (mg/L)
C O D (mg/L)
WOk O (B OE ) (mg/L) 0.011|  0.011|  0.010/  0.011|  0.009|  0.005
PN i (MPN/100m1) <1 <1 1 10 7 <1
MU o~ A Z v fE (mg/L)
7 U 7 h 2K Y YU LEH/20L)
B2 ot ®w a4 A v e/ 0.03 0. 04 0. 02 0. 02 0.03 <0.01




10 11 12 1 2 3 [EIEs i Q28 &)
16.7 15.9 18.0 16.0 18.7 18.0
11.2 11.6 16.0 14.2 16. 1 13.1
14.0 14. 1 17.3 15. 1 17. 4 14.7 254 18.7 11.2 15. 4
0. 088 0. 057 0. 084 0. 063 0. 080 0.076
0.072 0. 048 0. 060 0. 055 0. 066 0. 052
0.079 0. 054 0.071 0. 058 0.072 0. 067 48 0.119 0. 044 0.075
0. 005 0. 028 4 0. 036 0. 003 0.018
0.011 0. 006 0. 009 0. 007 0.010 0. 005 12 0.011 0. 005 0. 009
5 1 32 7 1 1 12 32 <1 5
0. 04 0.03 0.03 0.03 0. 04 0.03 12 0. 04 <0. 01 0. 03




5) A U ALFE K
F U RBEK (FD 1)

15 H

BAN

e
Fi

(CFU/m1)

R
SREIE
T

PN 115

B

R
I
T

g kO £ o b &

2

(mg/L)

R
A
2]

E%% kO 2 o b &

W

(mg/L)

R
s
T

<0. 03

<0. 03

v~ U H U RO ZEDONE W

(mg/L)

R
A
T

0.018

0. 007

&

ft ¥ a4

Ve

(mg/L)

e
s
T

H 1 7

(TOC)

(mg/L)

R
SIS
T

1.1
0.8
1.0

1.3
0.7
1.1

1.3
1.1
1.2

1.3
0.9
1.0

1.2
0.8
1.0

1.2
0.9
1.1

pH

=

e
s
T

7.25
6.99
7.17

7.32
6. 98
7.16

7.22
6. 92
7.12

7.22
6. 98
7.10

7.31
7.01
7.18

7.26
7.05
7.14

A0

F R

TR

R

R

R

R

i

0.6
<0.5
<0.5

1.1
<0.5
<0.5

2.1
<0.5
<0.5

0.8
<0.5
<0.5

3.4
<0.5
0.6

1.1
<0.5
<0.5

e

0.79
0.12
0.22

0. 37
0.08
0.15

0.42
0.07
0.12

0.17
0.03
0.09

0.44
0.04
0.14

0. 37
0.01
0.11

Ui TS R

H

(mg/L)

ResE om0 g T S

7% W H

B

e

(mg/L)

=
pr

m

A Y5

(KMnO, ¥4 # £ )

(mg/L)

7K

fisz

(0)

17.
12.
15.

23.
18.
21.

25.
22.
24.

29.
25.
28.

30.
28.
29.

28.
24.
25.

=

(mg/L)

=]

I
T

30.
20.
27.

S © Ul 0 &~ |©O

30.
24.
29.

W 0 COIN DN Ok

30.
26.
28.

> O O N O

30.
23.
27.

S = OO = O

31.
23.
27.

O = Ul —= OO

31.
23.
28.

W N OO = Of|©




10 11 12 1 2 3 [EIEs B Q28 &)

0 0 0 0 0 0 12 1 0 0
<0.03 <0.03 4 <0.03 <0. 03 <0.03
0.007 0. 009 4 0.018 0. 007 0.010

1.2 0.9 1.2 1.0 1.4 1.1
0.7 0.7 0.9 0.9 0.9 0.8
1.0 0.8 1.0 0.9 1.1 0.9 254 1.4 0.7 1.0
7.26 7.31 7.30 7.32 7.31 7.27
7.00 7.08 7.16 7.14 7.18 7.04
7.14 7.21 7.25 7.24 7.23 7.15 254 7.32 6.92 7.17
TR G RN A VR A RN G R Y R 254 F B
1.1 <0.5 0.6 <0.5 1.3 0.6
0.5 <0.5 0.5 <0.5 0.5 0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 254 3.4 <0.5 <0.5
0.33 0.18 0.22 0. 30 0. 40 0.54
0.04 0.07 0.09 0.08 0. 20 0.10
0.14 0.13 0.17 0. 20 0.26 0.27 254 0.79 0.01 0.17
1.5 1.3 1.8 1.4 2.3 1.4 12 2.3 1.3 1.7
24. 3 18. 1 13.4 9.5 9.9 14.4
18.1 12.7 9.2 6.8 6.3 10.5
21.3 15.7 10.6 8.2 7.7 12.0 254 30.0 6.3 18.3
29.1 29. 4 31.5 30. 2 30. 8 29.8
20.6 22.7 28.5 26. 4 27.0 22. 4
25.5 27.5 29.9 28.2 28.7 26.0 254 31.5 20.6 27.8




Y K (2D 2)

H
- 4 5 6 7 8 9
iz £ (mg/L)
o4
7 v oE = 7 B E F (/L) | &K
)
i i3 HE £ #  (mg/L)
fint [i73 A %+ v (mg/L)
ooy U A il (mg/L)
~ 7 % v v A E (mg/L)
4] 16. 3 17.0 17.8 16. 8 17.6 17.8
- S 15 g K (mS/m) | FAK 11.7 14.6 14.6 12.5 12.8 12.9
¥ 14.8 16.0 16.3 14.9 14.9 15.9
h o
W ¥ %4 F (mg/L) | FAX
i i)
tE3 U3 L7 Z  (mg/L)
Bem| 0.032]  0.056)  0.040)  0.036]  0.041]  0.050
Hle s o wm % & A% 0.024)  0.033]  0.035  0.027|  0.020]  0.031
Sl 0.028)  0.046]  0.038)  0.030]  0.030  0.037
! & H oA e by vy HE (ng/l) 0. 002 0.018
i
WfR A B (ToC ) (mg/L)|HAK
F1
B ) D (mg/L)
C O (mg/L)
qO MmO OE (B OE ) (mg/L) 0.001|  0.001| 0.002| 0.002| 0.001]  0.002
K 5% (MPN/100m1) <1 <1 <1 <1 <1 <1
MU o ~ma X % A ke (mg/L)
7 U 7 K AR Y YU A (fE/200)
2 f ®m 4 F v (mg/L) 0.03 0. 04 0.03 0. 02 0.04 0.03
A BEK (2D 3)
Tt A 4 5 6 7 8 9
%5@ # 2 (mg/L) 0.002|  0.003/  0.002| 0.001| 0.001]  0.001
ISn“\ A A T A F b K (mg/L) 0.010|  0.010|  0.010| <0.008| <0.008 <0.008




10 11 12 1 2 3 [EIEs i AR &5
16.6 16.0 18.0 16.2 18.9 18.0
11.6 11.8 16. 1 14.1 16.0 13.0
14.2 14.3 17.3 15.2 17. 4 14.7 254 18.9 11.6 15.5
0. 042 0. 026 0. 043 0. 027 0. 032 0. 036
0. 028 0.021 0.017 0.018 0. 027 0. 023
0.033 0. 024 0. 030 0.024 0. 030 0. 029 48 0. 056 0.017 0. 032
0. 005 0. 007 4 0.018 0. 002 0. 008
0.001| <0.001 0. 001 0. 001 0.002| <0.001 12 0.002| <0.001 0. 001
<1 <1 <1 < <1 <1 12 <1 <1 <1
0.03 0.03 0.03 0.03 0. 04 0.03 12 0.04 0. 02 0. 03
¥ =Ry =) NZAA
10 1 19 ! 5 3 [EIE 1A g i R3]
0. 002 0. 004 0. 004 0. 003 0. 002 0. 003 12 0. 004 0. 001 0. 002
<0.008| <0.008| <0.008 0. 008 0.011 0. 009 12 0.011| <0.008| <0.008




6) TEMELRALERIK
TEMERALEIK (2D 1)

15 H

BAN

e
Fi

(CFU/m1)

R
SREIE
T

10

29

160

110

280

PN 115

B

W
SRl
T

g kO £ o b &

2

(mg/L)

R
A
2]

H g% k O £ o b &

W

(mg/L)

R
s
T

<0. 03

<0. 03

v~ U H U RO ZEDONE W

(mg/L)

R
A
T

0. 002

<0. 001

&

ft ¥ a4

Ve

(mg/L)

e
Rl
T

H 1 7

(TOC)

(mg/L)

it
SRl
Ty

0.5
0.3
0.4

0.8
0.3
0.5

0.7
0.5
0.6

0.7
0.5
0.6

0.7
0.4
0.5

0.6
0.5
0.6

pH

=

B
e
T4

7.04
6.92
6. 98

6. 98
6.78
6. 87

6. 88
6.73
6.79

6. 80
6. 69
6. 74

6. 86
6.71
6.78

6. 89
6. 75
6. 80

A0

MR

R

R

R

R

R

i

<0.5
<0.5
<0.5

<0.5
<0.5
<0.5

<0.5
<0.5
<0.5

<0.5
<0.5
<0.5

0.8
<0.5
<0.5

<0.5
<0.5
<0.5

e

0.04
<0.01
0.03

0. 06
0.03
0.04

0. 06
0.01
0.03

0.04
<0.01
0.02

0. 06
0.02
0.03

0.03
<0.01
0.02

Ui TS R

H

(mg/L)

ResE om0 g T S

7% W H

B

e

(mg/L)

=
pr

A Y5

m

(KMnO, ¥4 % &)

(mg/L)

<0.

7K

i’

(0)

19.
13.
16.

24.
18.
21.

26.
23.
24.

30.
26.
28.

30.
28.
29.

28.
24.
26.

=

(mg/L)

=]

I
T

29.
22.
27.

> O N o1 O

30.
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29.

= o 0o N ND|w

29.
26.
28.

SN N|© o1 &

28.
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o= e w o —=|o

30.
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DD O 3| O P~
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24.
28.

O O 0w W Ok




10 11 12 1 2 3 EIE=s e BG5S N3]
43 0 0 0 0 0 12 280 0 53
<0. 03 <0. 03 4 <0.03 0. 03 <0. 03
<0. 001 <0. 001 4 0.002| <0.001| <0.001
0.7 0.7 0.7 0.7 0.9 0.7
0.5 0.4 0.6 0.6 0.6 0.3
0.6 0.5 0.6 0.6 0.7 0.4 254 0.9 0.3 0.6
6.93 7.11 7.21 7.18 7.19 7.14
6. 77 6. 84 7.08 7.02 7.04 7.02
6. 85 6. 99 7.13 7.11 7.11 7.07 254 7.21 6. 69 6.94
L B 5 B 5 R 254 Bl
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0.5 0.5 0.5 <0.5 0.5 <0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 254 0.8 <0.5 <0.5
0.03 0.02 0.03 0. 02 0.02 0. 04
<0. 01 <0.01 <0.01 <0. 01 <0.01 0.02
0. 02 0.01 0.01 0. 01 0.01 0. 02 254 0. 06 0. 01 0. 02
0.9 0.7 1.2 0.8 1.1 0.8 12 1.2 0.3 0.8
24.7 18.5 13.5 9.9 10. 4 14.9
18.6 12.9 9.4 7.7 .8 10.9
21.8 16.0 10. 8 91.0 8.2 12.5 254 30. 4 6.8 25. 6
28.9 28.5 31.3 29. 3 29.2 28. 6
21.0 22.4 28.2 25.8 26.0 22.0
25.3 26. 8 29.3 27. 4 28.2 25.5 254 31.3 21.0 27. 4




TEPERALEEK (2D 2)

- / 4 5 6 7 8 9
i3 & (mg/L)
i 0. 02 0.04|  <0.01|  <0.01 0.01 0.01
7 oy E = 7 B % F g/l &Kl <001 <0.01 <€0.01 <0.01 <0. 01 <0.01
SEHIL <0.01] <0.01]  <0.01]  <0.01|  <0.01|  <0.01
fil§ i3 HE £ #  (mg/L)
Tt 1% A 7 v (mg/L)
v v v A il JE (mg/L)
~ 7 % v v A E (mg/L)
i 17. 1 17.0 17.8 16.7 17.5 18.0
- S 15 g K (mS/m) | FAK 12.0 14.8 14.9 12.7 13.2 13.2
NS 15.0 16. 2 16.3 14.9 14.9 15.9
- i 10.7 8. 4 6.8 7.5 6.8 6.0
W ¥ %4 F (mg/L) | HAX 8.5 5.4 5.0 4.4 5.1 4.4
fitx -1 9.7 6.8 5.8 5.6 5.9 5.1
# U3 L7 Z  (ng/L)
Bl 0,025 0.027)  0.023)  0.023]  0.022]  0.028
Hle 4 o wm kg Il 0.013)  0.016/ 0.017|  0.015|  0.019]  0.020
Sl 00200 0.022]  0.020]  0.018]  0.020]  0.023
! & H oA e by vy HE (ng/l) <0. 001 0. 002
i
WfR A B (ToC ) (mg/L)|HAK
Y
B (@) D (mg/L)
C (@) D (mg/L)
WO O (B OE ) (mg/l) <0.001,  0.001| 0.001| 0.001| 0.001|  0.001
K 5% (MPN/100m1) <1 <1 <1 <1 <1 <1
MU ~m X & > E K (ng/l)
7 U 7 K AR Y YU A (fE/200)
2 f ®m 4 F v (mg/L) 0.03 0. 04 0.04 0.03 0.05 0. 04

{EPERALEIK (Z2D 3)

oy % 4 5 6 7 8 9
% B F Bz (mg/L) 0. 002 0. 002 0. 001 0.001| <0.001 0. 001
TH .

Al v & 7 v F e F (mg/L) <0.008| <0.008| <0.008| <0.008 <0.008 <0.008




10 11 12 1 2 3 EIE=s e B5QIE8 N3]
0. 02 0.01 0. 06 0. 02 0.09 0.05
<0.01 0. 01 <0.01 <0. 01 <0.01 <0. 01
<0.01 <0. 01 <0.01 0. 01 0.02 0. 01 254 0. 09 <0.01 <0.01
16.6 16.0 18.0 16. 1 18.9 18.0
1.6 11.8 16.0 14. 4 15.9 13.0
14.2 14.2 17.3 15.2 17. 4 14.8 254 18.9 1.6 15.5
8.6 11.3 12.6 14.6 14.2 11.9
5.6 8.5 10. 4 12. 1 11.9 10.5
6.9 9.7 11.8 13.0 13.2 11.3 254 14. 6 4.4 8.7
0. 022 0.018 0. 023 0.021 0.021 0.015
0.018 0.014 0. 007 0.012 0.017 0. 006
0. 020 0.016 0.017 0.017 0.019 0.012 48 0. 028 0. 006 0.019
0. 002 0. 002 4 0.002| <0.001 0. 002
0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12 0.001| <0.001| <0.001
<1 <1 ¢l <1 ¢l <1 12 <1 <1 <1
0. 03 0.03 0.03 0.03 0.04 0.03 12 0. 05 0.03 0. 04
10 11 12 1 2 3 B %k e BSQI5N NIS)
0. 002 0. 004 0. 004 0. 003 0. 002 0. 002 12 0.004| <0.001 0. 002
<0.008| <0.008| <0.008| <0.008 <0.008| <0.008 12| <0.008 <0.008| <0.008




7) AiEK
AR (2D 1)

A 4 5 6 7 8 9
HH
i
— ke #m (CFU/m1) | A%
St 0 0 0 0 0 0
i
N iz IR
) - - - - - -
wiH
i kX 2 o A& B (mg/l)| &K
4]
%ﬁk E O & o b & ¥ (g/l)| &K
S| <0. 03 <0.03
wiE
v A EOZE A (/L) EAR
¥ T <0. 001 <0. 001
54
Btk o4 A v (mg/l) | KK
8 )
] 0.5 0.6 0.6 0.6 0.6 0.5
75l 52 Y (ToC)  (mg/L) | i 0.3 0.3 0.4 0.4 0.4 0.5
H ) 0.4 0.4 0.5 0.5 0.5 0.5
54 7.07 7.03 6. 87 6. 88 6. 88 6. 89
pH ([ Qi 6. 90 6. 79 6.73 6. 70 6. 72 6.78
) 6. 99 6. 90 6. 80 6. 76 6. 80 6.83
S
= WER | EHERR | HER | BEER | BER | BEER
ST <0.5 0.5 0.5 0.5 €0.5 0.5
() | X <0.5 <0.5 <0.5 <0.5 <0.5 0.5
s 0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B 0.03 0.03 0. 02 0.03 0.03 0.03
¥ EoO(E) KK <0. 01 <0.01 <0.01 <0.01 0. 01 <0.01
) <0.01 0.0 0. 01 0.0 <0.01 <0.01
E% i 0.48 0.45 0. 46 0.45 0. 65 0. 42
wm | Bt & ¥ O F (/D) | AKX 0.35 0. 32 0. 26 0. 24 0. 25 0. 30
A T 0. 42 0. 40 0.37 0.31 0. 34 0.37
" a5 0. 54 0.52 0.51 0. 50 0. 69 0. 45
w |72 o i) % (mg/L) | HIK 0.39 0. 37 0.32 0. 30 0.32 0.34
“; S 0.47 0.45 0. 42 0. 36 0. 39 0. 42
S E S (KMno, B &) (ng/L) 0.3 0.3 0.5 0.9 0.8 0.7
B 17.5 23.9 25.7 29.6 29.9 28. 7
Pk HO(C) | &K 12.9 18.3 23.0 25.9 28. 1 24. 1
iy D] 15.5 21.3 24. 3 28.0 29. 2 25.9
H B 29. 6 30. 6 30. 1 28.6 30.5 30. 1
H 7 JL il J £ (mg/L) | Fed& 22.6 25.0 26. 2 22.8 25.0 24.1
S 27.4 29. 1 28.1 26. 2 27.0 27.9




10 11 12 1 2 3 EIEx'e b a K NS
0 0 0 0 0 0 12 0 0 0
— — — — — — 12 —
<0. 03 <0. 03 4 <0.03 <0. 03 <0.03
<0. 001 <0. 001 4| <0.001| <0.001| <0.001
0.6 0.5 0.7 0.7 0.8 0.7
0.4 0.4 0.5 0.5 0.6 0.3
0.5 0.5 0.6 0.6 0.7 0.4 254 0.8 0.3 0.5
6.92 7.11 7.18 7.22 7.20 7.20
6. 78 6. 87 7.05 7.06 7.07 7.04
6. 85 6. 99 7.12 7.14 7.13 7.10 254 7.22 6. 70 6. 95
WRE | SRR | SRR | HER | EER | ERE 254 T
0.5 <0.5 0.5 <0.5 0.5 <0.5
<0.5 0.5 <0.5 <0.5 <0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5 254 <0.5 <0.5 <0.5
0. 02 0.03 0.03 0.02 0.02 0. 02
<0. 01 <0. 01 <0. 01 <0. 01 <0.01 <0.01
0. 01 <0.01 <0.01 <0.01 <0.01 0.0 254 0.03 <0.01 0. 01
0.46 0. 50 0. 48 0.52 0.52 0. 87
0.34 0.37 0.35 0.37 0.30 0. 30
0. 39 0.44 0. 44 0.45 0. 42 0. 47 254 0. 87 0. 24 0. 40
0.49 0.53 0.53 0. 59 0.59 0. 90
0. 38 0. 40 0.39 0. 42 0.38 0. 37
0.43 0.48 0.49 0. 50 0.48 0.52 254 0. 90 0.30 0.45
0.3 0.7 0.9 0.5 0.8 0.5 12 0.9 0.3 0.58
24. 1 18.0 13.4 9.6 9.9 14.3
18.0 12.8 9.2 6.8 6.2 10.5
21.2 15.7 10. 6 8.2 7.6 12.0 254 29.9 6.2 18.3
29.0 28. 4 31.0 29.1 29.9 29. 0
21. 4 22.0 28.5 25.2 26. 4 22.2
25.3 26.5 29.5 27. 4 28.3 25.5 254 31.0 21.4 27.4




AHimAK (D 2)
A 4 5 6 7 8 9
A
Fife % (mg/L)
Wi
o' o= 7 e 2 # g/l &K
fiF i HE %= #  (mg/L)
i i A % > (mg/L)
B v v A fE O (mg/L)
~ 7 3 ¥ U A i E (mg/L)
4] 16.7 17.3 18.0 16.8 17.9 18.2
= = = g R (S/m) | K 12. 4 14.8 15.2 13.0 13.5 13.2
B S 15.1 16. 4 16.5 15.1 15. 1 16.0
wiE
b 17 i3 F (mg/L) | MK
fisc )
% U3 L7 E  (mg/L)
i 0.015 0.021 0.018 0.017 0.017 0. 020
HEEE 4 m W Y AKX 0.012 0.012 0.012 0.013 0.013 0.015
NS0 0.013 0.018 0.015 0.015 0.015 0.017
2 A o a7y v mE (ng/L) 0. 022 0. 020 0.010 0.013 0.014 0.019
H 54
WA BY (10C ) (mg/L)| &K
)
B @) D (mg/L)
C 0 D (mg/L)
WO OB (B’ O ) (mg/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
N il (MPN/100m1)
MU o~|m X Z kR (ng/L)
7 ) 7k AR U T w A (fE/200)
2 q ¥ A4 A  » (mg/L) <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
SR (2D 3)
A
ot 4 5 6 7 8 9
ST AA A RO T > (ng/L) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
o = & (mg/L) <0. 06 <0. 06 <0. 06 <0. 06 0. 06 0. 06
7 =t =t L3 e (mg/L) <0.002| <0.002| <0.002| <0.002| <0.002| <0.002
7w wm A& A (mg/L) <0.001| <0.001 0. 001 0. 002 0. 002 0. 003
w|¥Y 7 2w v E O (ng/l) <0.003| <0.003| <0.003| <0.003| <0.003| <0.003
#elv 7w 27 mmr 2 &% v (mg/l) 0. 001 0. 001 0.003 0. 002 0.003 0. 003
T (g % % (mg/L) 0. 002 0. 002 0. 001 0.001| <0.001 0. 001
Hla v v o~ w2 & o (mg/L) 0. 001 0. 001 0. 007 0. 006 0. 009 0.010
YU o om o owvm FE B (ng/L) <0.003| <0.003| <0.003| <0.003| <0.003| <0.003
T e E Y s ana A XL (mg <0.001| <0.001 0. 002 0. 002 0.003 0. 003
7 v = F& N A (mg/L) <0.001| <0.001 0.001| <0.001 0. 001 0. 001
A v A 7 L F B R (mg/L) <0.008| <0.008| <0.008| <0.008 <0.008| <0.008
oo [ AL ) ES % (mg/L) <0. 06 <0. 06
f;ﬁ vZumu7k h=krU L (ng/l) <0. 001 <0. 001
W‘?@ K o7 o m I — b (mg/L) <0. 002 <0. 002




10 11 12 1 2 3 [EIEs i K &)

16.7 16.0 18.2 16.5 18.8 18.2

11.9 11.9 15.9 14.5 16.0 13.2

14. 4 14.3 17.5 15.4 17.5 14.9 254 18.8 11.9 15.7
0.018 0.013 0. 020 0. 022 0. 026 0.015
0.015 0.011 0. 006 0. 009 0.017 0. 005
0.017 0.012 0.015 0.016 0. 021 0.010 48 0. 026 0. 005 0.015
0.015 0.006|  0.013 0. 009 0.016 0. 009 12 0. 022 0. 006 0.014
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
<0. 01 <0.01 <0. 01 <0.01 <0. 01 <0.01 12 <0.01 <0. 01 <0. 01
10 11 12 1 2 3 [EEe B 53 iN S
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
0. 06 <0. 06 0. 06 <0. 06 0. 06 <0. 06 12 0. 06 <0. 06 <0. 06
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002 12| <0.002| <0.002| <0.002
0. 002 0.001| <0.001| <0.001| <0.001| <0.001 12 0.003| <0.001| <0.001
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| <0.003| <0.003| <0.003
0. 002 0. 001 0. 002 0. 002 0. 001 0. 001 12 0. 003 0. 001 0. 002
0. 002 0.004|  0.004|  0.003 0. 002 0. 002 12 0.004| <0.001 0. 002
0. 007 0. 003 0.004|  0.003 0. 002 0. 001 12 0.010 0. 001 0. 005
<0.003| <0.003| <0.003| <0.003| <0.003| <0.003 12| <0.003| <0.003| <0.003
0. 002 0. 001 0. 001 0. 001 0.001| <0.001 12 0.003| <0.003| <0.003
0.001| <0.001 0.001| <0.001| <0.001| <0.001 12 0.001| <0.001| <0.001
<0.008| <0.008| <0.008| <0.008| <0.008| <0.008 12| <0.008| <0.008| <0.008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4] <0.001| <0.001| <0.001
<0. 002 <0. 002 4| <0.002| <0.002| <0.002




8) R 7K
R THAK (FD1)

/ 4 5 6 7 8 9
IHH
& 0 0 0 0 0 0
— % g (CFU/m1) | A 0 0 0 0 0 0
Sy 0 0 0 0 0 0
i
x s k] A
N - - - - - -
| <0.001]  <0.001]  <0.001| <0.001| <0.001| <0.001
0w & O F O b A& W (ng/L) | K| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
SER[ <0.001]  <0.001)  <0.001| <0.001| <0.001| <0.001
b5 g <0.03 <0. 03 <0.03 <0. 03 <0.03 0. 03
w[# A T o & B (ng/l)|HlX <0.03 <0. 03 <0.03 <0. 03 <0.03 0. 03
DA% <0.03 0. 03 <0. 03 0. 03 <0.03 0. 03
| <0.001]  <0.001]  <0.001| <0.001| <0.001| <0.001
v RO ZEOMAAEY (mg/L)|HAK| <0.001 <0.001] <0.001| <0.001] <0.001| <0.001
% [ <0.001]  <0.001)  <0.001| <0.001| <0.001| <0.001
5aT 14.3 16.3 18.0 15.5 15.5 16.8
w4 A v (meg/l) | KIK 8.4 11.9 13.0 9.7 9.9 11.0
iz} NS5 12.1 14.2 14.3 12.2 12.3 13.6
5aT 0.6 0.6 0.6 0.7 0.7 0.6
" Ui 7] (TOC)  (mg/L) | HAX 0.4 0.3 0.5 0.4 0.4 0.5
NS 0. 4 0.5 0.5 0.5 0.5 0.5
H 5aT 7.57 7.55 7.53 7.54 7.54 7.54
pH fE A 7.47 7.43 7.46 7.47 7.46 7.47
NS5 7.52 7.50 7.50 7.51 7.50 7.50
R B U BEa U | BER LU B L AL | Byl
R = BFERR | BER | BERRE | HER | HER | EHER
i <0.5 0.5 <0.5 <0.5 <0.5 <0.5
=) (B IR <0.5 0.5 <0.5 <0.5 <0.5 <0.5
NS5 0.5 0.5 0.5 0.5 0.5 0.5
i 0. 02 0.03 0. 02 0.01 0. 02 0.02
V& (B IR <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
NS5 <0.01 0. 01 0. 01 0. 01 0. 01 <0.01
E% i 0. 84 0. 84 0.83 0. 84 0. 82 0. 84
= E OBE & OB R #F (g/l) | KIK 0.75 0.77 0.72 0.76 0.71 0.75
H NS5 0. 80 0. 82 0.79 0. 80 0.78 0.78
i B 0.88 0. 90 0. 89 0. 90 0.87 0. 89
w 7% %@ by F (mg/L) | &K 0.81 0.83 0. 80 0.83 0.75 0.81
" Sy 0. 85 0. 87 0.86 0. 86 0.84 0.83
A Y% (Ko, M & &)  (mg/L) 0.7 <0.3 0.5 0.6 0.8 0.7
B 17.7 23.9 25.3 29. 7 30. 3 29.0
— |k R (C) &I 12.6 18.5 23.1 26. 3 28.3 24.3
iy Sy 15.5 21.4 24.3 28. 1 29. 3 26. 0
H e 35. 4 40. 0 39. 1 41.0 41.0 39. 4
H |7 L 71 D B (mg/L) | B 28.2 33.4 35.5 29.0 33.4 32.8
Sy 33. 4 37.0 37.4 36. 6 37.1 37.5




10 11 12 1 2 3 [A1%4 & AR N3]
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0 190 0 0 0
- - - - - - 190 -
<0.001] <0.001] <0.001| <0.001| <0.001| <0.001
<0.001, <0.001, <0.001| <0.001| <0.001| <0.001
<0.001, <0.001, <0.001| <0.001| <0.001| <0.001 48| <0.001| <0.001, <0.001
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 48 <0. 03 <0. 03 <0. 03
<0.001] <0.001] <0.001| <0.001| <0.001| <0.001
<0.001, <0.001, <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 48| <0.001| <0.001| <0.001
14. 4 12.8 16.5 15. 4 19.7 17.5
7.0 8.0 12.0 10.9 12.6 10. 1
10. 8 10.5 14.5 12.5 15. 1 12.6 254 19.7 7.0 12.9
0.6 0.6 0.6 0.6 0.8 0.6
0.4 0.4 0.5 0.5 0.6 0.3
0.5 0.5 0.6 0.6 0.7 0.4 254 0.8 0.3 0.5
7.53 7.54 7.53 7.53 7.53 7.54
7.46 7. 46 7.46 7.45 7.45 7.45
7.49 7.50 7.50 7.50 7.49 7.50 254 7.57 7.43 7.50
B U B U B U | Baa U By U AL 254 HE e L
R | EFER | EFRRE | EFRER | EER | EER 254 BHFRR
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 254 0.5 0.5 0.5
0. 02 0. 02 0.01 0. 02 0.03 0.02
<0.01 0. 01 <0.01 <0.01 <0.01 <0.01
<0.01 0. 01 <0.01 <0.01 0.01 0.02 254 0.03 <0.01 <0.01
0. 84 0.84 0. 83 0.85 0. 82 0.85
0.71 0.76 0.75 0.76 0.73 0.74
0.79 0.79 0.78 0.79 0.78 0.79 254 0.85 0.71 0.79
0. 88 0.87 0. 88 0.93 0. 90 0. 90
0.75 0.81 0. 80 0. 80 0.79 0. 80
0.83 0.84 0.83 0.84 0.84 0.84 254 0.93 0.75 0.84
0.3 0.4 0.9 0.8 1.1 0.5 12 1.1 <0. 3 0.6
24. 0 18.0 13.2 9.3 9.7 14.3
18. 1 12.9 9.1 6.9 6.5 10.3
21. 3 15.7 10. 6 8.2 7.6 11.9 254 30. 3 6.5 18.3
37. 4 34. 4 35.5 33.6 34. 2 33.0
28.0 29. 2 32.5 29.5 30. 8 26. 1
33.7 32.9 33.9 31.7 32.6 29.6 254 41.0 26. 1 34. 4




KT HAK (2D 2)

HR 4 5 6 7 8 9
fite B (mg/L) 2.5 2.2 2.5 1.6 1.7 1.4
1
7 vy o' = 7 EE F (/)| KK
i i fe %= #  (mg/L) 0. 96 0. 87 0. 87 0.75 0. 86 1.02
it iy A iy v (mg/L) 19.5 19.3 19.8 16.3 20. 6 21.6
B Y v A fEOFE (mg/L) 31 30 29 25 28 28
~ 7 x ¥ v oA fl OFE (mg/L) 9 9 9 7 8 9
531 17.8 19.0 19. 7 19.1 19.8 19.6
_|E = 1= H R (S/m) | K 13.6 16. 4 17.1 14.8 15. 4 15.1
s3] 16. 2 17.8 18.2 17.2 17.1 17.8
e 1% L7 #  (mg/L) 9.9 8.0 7.1 6.8 6.5 5.9
|7 ifE ) 7 (mg/L)
IR 0.018|  0.021 0.022|  0.019| 0.019|  0.022
%4 B W e E A& 0.014]  0.015| 0.015| 0.016/ 0.015 0.017
H St 0.016| 0.019| 0.018|  0.017| 0.017|  0.019
2 H ¥ o~ ua F v wE (mg/l) 0. 025 0. 026 0.016 0.018 0.019 0. 024
B
Hlve e st &5 B (T0C ) (ng/L) | el
1)
B O (mg/L)
C ¢ D (mg/L)
4 06 o (B OE ) (mg/l) <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
N i (MPN/100m1)
MU o~xm X X v E ke (mg/L)
7V 7 kAR Y Y A (E/200) 0 0
2 & ®»m 4 F ¥ (mg/L) <0.01 <0.01 <0.01 <0.01 <0.01 <0.01




10 11 12 1 2 3 EIE=s e B5QIE8 N3]
2.0 1.6 1.9 1.8 1.8 2.6 12 2.6 1.4 2.0
0.93 0.65 1.15 0. 66 1.24 0.64 12 1.24 0. 64 0. 88
18.8 17.6 21.8 17.3 22.0 16.7 12 22.0 16.3 19.3
27 27 32 30 31 27 12 32 25 29
8 7 9 9 8 8 12 9 7 8
18.1 17.0 19.0 17.3 19.7 18.7
13.4 13.2 16.5 15.3 16.5 13.4
16. 1 15.4 18.3 16. 0 18.2 15.5 254 19.8 13.2 17.0
7.1 9.0 10.9 12.4 12.8 11.8 12 12.8 5.9 9.0
0. 024 0.016 0. 023 0.021 0. 024 0.017
0.017 0.015 0.011 0.012 0.018 0.011
0. 020 0.015 0.019 0.018 0. 022 0.014 48 0.024 0.011 0.018
0.017 0. 009 0.014 0.014 0. 022 0.014 12 0. 026 0. 009 0.018
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 12| <0.001| <0.001| <0.001
0 0 4 0 0 0
<0. 01 <0.01 <0. 01 <0. 01 <0.01 <0. 01 12 <0. 01 <0.01 <0. 01




R 7HK (FD3)

H

i 4 5 6 7 8 9
BRI AR OYEDIE YW (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003|  <0.0003
K O K O F o b & W (mg/L)| <0.00005 <0.00005| <0.00005 <0.00005| <0.00005| <0.00005
Ly kO E 0 EAE W (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
t F &k O ZF o I A ¥ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Nofio o w A kb A % (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
il 5] [ fe %= % (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
vk A RO ALY 7 v (mg/l) <0.001 <0.001 <0. 001 <0. 001 <0.001 <0.001
iy e R = R & OV Y R RE = R (mg/L) 0.96 0.87 0.87 0.75 0. 86 1.02
7 v #F K O ZF O b A& W (mg/l) <0. 08 <0. 08 0.10 0.10 <0. 08 0.08
x v F LK X ZF 0 A& W (ng/l) <0.1 <0.1 <0.1 <0.1 0.1 0.1
] i s R % (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002| <0.0002|  <0.0002
L4 — ¥ F X F v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i; ;lfiéffﬁfj g 5 %9 (mg/L) | <0.004|  <0.004|  <0.004|  <0.004|  <0.004|  <0.004

w|¥y 7 = = % v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
> 3 7 B o x F L v (ng/l) <0.001 <0.001 <0.001 <0.001 <0. 001 <0.001
K'Y 7 v o x F L ¥ (mg/l) <0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001

L N + > (mg/L) <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001

% I ES % (mg/L) <0. 06 0. 06 0.08 0. 09 0.10 0. 09
Vi = =t i3 % (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = N JL 2 (mg/L) <0. 001 0. 001 0. 002 0. 003 0. 004 0. 005

1 | Y v = =t i3 % (mg/L) <0.003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y 7 m £ 7 v o A & ¥ (ng/l) 0. 002 0. 003 0. 005 0. 004 0. 006 0. 007
5 # e (mg/L) 0. 002 0. 003 0. 001 0. 001 0. 001 0. 001

A o U o~ o m % & v (mg/L) 0. 004 0. 008 0.013 0.012 0.017 0. 020
k D] Vi = 2 fE & (mg/L) <0.003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
7 v ® Y 7 moua A ¥ v (ng/lL) 0. 002 0. 003 0. 004 0. 004 0. 005 0. 006
-7 =] = N JL 2 (mg/L) <0. 001 0.001 0.002 0.001 0.002 0.002
A A~ A 7 A F b K (mg/L) <0.008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
ok N F o kA& W (mg/L) €0.1 <0.1 <0.1 <0.1 <0.1 <0.1
TN =g EOPZOAEY (mg/l) 0.01 0.02 0.02 0.02 0.02 0.02
g Ok O F o b A& W (mg/L) €0.1 <0.1 <0.1 <0.1 <0.1 <0.1
F U T AR DTE DA W (ng/L) 16.3 15.9 17.7 15.1 19.2 19.7
BT TN = SR N () (ng/L) 40 39 38 32 36 37
7R & 7% w ¥ (mg/L) 101 103 106 91 99 105
bz 4 A& v R om & M Al (mg/L) <0.02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
v - 7 2 g v (ng/L) <1 <1 <1 <1 <1 <1
2- A F A4 YV KRR F — b (ng/L) 1 <1 <1 <1 <1 <1
F A4 A v R om w M A (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 ES J — JL ¥ (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
T U FELCREBE DS YW (ng/L) <0. 002 <0. 002
75 v M E O A W (ng/l) <0. 0002 <0. 0002
= v F LV kO ZEoOWNEW gL <0. 002 <0. 002
L,2- ¥ 7 w u = % v (ng/L) <0. 0004 <0. 0004
k L ES > (mg/L) <0. 04 <0. 04

Elorrmy = F L ~F ) (ng/l) <0. 008 <0. 008

B g i % W (mg/L) <0. 06 <0. 06

o DR R A S S RV YD) <0. 001 <0. 001

Sl ok 7 w5 — L (mg/L) <0. 002 <0. 002

AX Ty y

= R ES gl <1 <1

H |ifE i 74 % (mg/L) 2.2 1.9 2.2 1.4 1.5 1.2

Bl,1,1- P VU 7 o o = % ¥ (ng/L) <0.03 <0.03
A F ) —-t-7 F )= —F )L MBE) (mg/L) <0. 002 <0. 002
R X Gid B (TON) 1 1 1 1 1 1
Z > 7 7 E K -1.4 S103 S103 S103 -1.2 -1.2
e & 5 = Gl (CFU/m1) 0 0
LI — v 7 v o == F L ¥V (gl <0.01 <0.01




10 11 12 1 2 3 [m1%K 4] 54N NS
<0.0003|  <0.0003| <0.0003|  <0.0003| <0.0003|  <0.0003 12| <0.0003| <0.0003|  <0.0003
<0.00005| <0.00005| <0.00005| <0.00005 <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.93 0. 65 1.15 0. 66 1. 24 0. 64 12 1. 24 0. 64 0.88
0. 09 <0.08 0.09 0.08 <0.08 <0.08 12 0.10 <0.08 <0.08
0.1 0.1 0.1 0.1 0.1 <0. 1 12 <0. 1 <0. 1 <0. 1
<0.0002|  <0.0002| <0.0002| <0.0002| <0.0002|  <0.0002 12| <0.0002| <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001
<0. 001 <0. 001 <0. 001 <0.001 <0. 001 <0. 001 12 <0.001 <0.001 <0.001
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001
0.07 0.08 0. 06 0. 06 0. 06 0. 06 12 0. 10 0. 06 0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 002 0. 002 0. 001 <0.001 0. 001 <0. 001 12 0. 005 <0.001 0. 002
<0.003 <0.003 <0.003 <0.003 <0.003 <0.003 12 <0.003 <0.003 <0.003
0. 004 0. 002 0. 003 0. 002 0. 002 0. 002 12 0. 007 0. 002 0. 004
0. 002 0. 004 0. 004 0. 004 0. 002 0. 002 12 0. 004 0. 001 0. 002
0.010 0. 006 0. 007 0. 005 0. 005 0. 004 12 0. 020 0. 004 0. 009
<0.003 <0.003 <0.003 <0.003 <0.003 <0.003 12 <0.003 <0.003 <0.003
0. 003 0. 002 0. 002 0. 002 0. 002 0. 002 12 0. 006 0. 002 0. 003
0. 001 <0.001 0. 001 0. 001 <0.001 <0.001 12 0. 002 <0.001 <0.001
<0.008 <0.008 <0.008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0.01 0.01 0.01 0.01 0.01 <0.01 12 0.02 <0. 01 0.01
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
15. 0 13.0 16.6 13.2 18.6 11.9 12 19.7 11.9 16.0
35 34 41 39 39 35 12 41 32 37
101 88 111 93 109 89 12 111 88 100
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 0. 02 12 0. 02 0. 02 0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005|  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4| <0.0002|  <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4| <0.0004|  <0.0004|  <0.0004
0. 04 0. 04 4 0. 04 <0. 04 <0. 04
<0.008 <0.008 4 <0. 008 <0. 008 <0. 008
0. 06 0. 06 4 <0. 06 0. 06 0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.8 1.4 1.7 1.6 1.6 2.3 12 2.3 1.2 1.7
<0. 03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.4 -1.4 -1.4 -1.6 -1.6 -1.6 12 -1.2 -1.6 -1.4
0 0 4 0 0 0
<0.01 <0.01 4 <0.01 <0.01 <0.01




R HK (FD4) B

/ 5 7 10 2 Eip =31 Rl )
HH
1,3—Y7uara~y (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22—DPA (X F K ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 e e = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T - 7 - — I (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 k 7 v v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
e = = 7R Z (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
7 3 k 7 A (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T a Vi =4 — JU (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 YV X ¥ F & (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = v A& A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
AV 7uaBh )7 (MIPC) (mg/L)| <0.0001] <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7uaFF 7 (IPT) (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A7 ma X KR A(IBP) (ng/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009|  <0.0009
A4 X J v & ¥ v (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
A4 v KX ) 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— X 7 wvu H ) 7 (ng/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T RA (VT =2 A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
= N7 = v 7 a vy 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TV — )L (mra A — L) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURZANLT 7 (R YY) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
F x ¥ Y 7 g A K 2 (ng/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X > v 8 (A B 81 ) (mg/L)| <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy ¥ X Kk v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
Vi =z 4 N Z  (mg/L) | 0. 000006 | <0.000006| <0.000006| <0. 000006 4| <0.000006| <0. 000006| <0. 000006
S 7 = v A b m — JL (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
bl /l/ 4 y 7 (mg/L)
Jv X1 5 (N C ) (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
71 /1/ AR = AN i K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
i) % R 7 7 > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
X /7 73 (A CN) (mg/L)| <0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - 4 v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
V4 3 JL =4 > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
VA D) R A — k (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v Ak ¥ 3 — b (mg/L)
7 v X 7 v v 7 (ng/L) <0.0002|  <0.0002|  <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
sa=ra7= (CNP) (mg/lL) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7w JL ¥ U R A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souZua=,Lb (TPN) (mglL) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
D 7 Zh D4 > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
> 7 J K A (CY AP ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y vnr Yy (DCMU) (mg/lL <0.0002|  <0.0002|  <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
v/ X =)L (DBN) (mglL) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
)R A(DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 U > K~ (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
2NV IRI L (ZF IV F A ARY) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4] <0.00004| <0.00004| <0.00004
D% 7 7 / v (mg/L)
T A NN A— R EEK (ng/l)
D% ¥ zn =4 JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
oo AR oy 77 F b (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
= ¥ (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A HZ A U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
v A k =  — F (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
D4 A ) D) > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
Y A B A~ L — b (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
vl A 7 D4 v (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
4 A VN =g > (mg/L) <0. 008 <0. 008 <0. 008 <0.008 4 <0.008 <0. 008 <0. 008
4 N — A
IESEART S A LT




RUoTHK (D 4) BEHEIE

/ 5 7 10 2 Eip i Rl )
HH
5 7 v = JL (mg/L) <0.001 <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
¥ % 7 2 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
F A+ ¥ B A 7 (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F A7 7 Fx— b A TF L (mg/l) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0. 003 <0. 003
F F X v 7 (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
7> 7 U v b U F v (mg/l)
TINT AT (MBPMC) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
k ) 4 o B L (mg/L) [ <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
c)Zma gk vy (DEP) (ng/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y v 7 Z Y — L (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
Ky o7 v Z U v (mg/L) <0.0006|  <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
+ 7 i A 3 K (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A a —  (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= ~ =4 N Z (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
=g 7 7 =4 = JL (mg/L)
7 Y X ¥ 7 = v (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV —k (5L —FR) (mg/L)| <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
= = v F A v (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
v U 7 F v 7 (mg/l) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 X o > (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
-7 € v =4 = JL (mg/L) | €0.000005| <0.000005| <0.000005| <0. 000005 4| <0.000005| <0. 000005| <0. 000005
Zx=baF AL (MEP) (ng/lL) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
72/ 7 V7 (BPMC) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
- E= U N / > (mg/L)
7z F (M P ) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7 x> — kK (PAP) (mg/L)| <€0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v kb 7 W i K (mg/L) <0.0001|  <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
- VA 7 A R (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 A V4 =i — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 pd N R 2 (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 7 v 7 = ¥ v (ng/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
7 v 7T v A (mg/l) <0.0003| <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F 7 7 v — b (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A =i v N K v (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 m  F A K A (mg/L)
7 v v 2 5 v — b (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
va =i = VA 2 K (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 v X F Y — ) (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =] T -7 7 K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 3 U (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
~ N DA/ =4 > (mg/L) <0.001 <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Vv v 7 om v (mg/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009|  <0.0009
N 7 = F v 7 (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
~ v A > v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
~N v T 4 A Z Y v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
N v 7 Z v T (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
N7 ( Rz ) (mg/L) | <0.0001|  <0.0001| <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L o' — k (mg/L) <0.0007|  <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A F 7 ¥ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~ 7 F 4 (~F Y ) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa7>vy 7 (MCPP) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <€0.0005| <0.0005|  <0.0005
A Y N JU (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A b 7 X v )L (mg/L) <0.0006|  <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
AFHEF A (DMTP) (ng/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F ) KX A4 A v v (ng/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
A FI 7 A b aE B ¥V (ng/l) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
A I D) - D4 > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
A 7 = F v b (ng/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
A A =i = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
+ D) % — ~ (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
=3 3K 2 (mg/L) <1 <1 <1 <1 4 <1 <1 <1




